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Hit X [m]
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Event 9 , Ntracks = 1
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Hit X [m]
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Hit x [m]
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Hit X [m]

Hit y [m]
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Hit x [m]

Hit y [m]
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Hit x [m]
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Hit x [m]

Hit y [m]
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Hit X [m]
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Hit X [m]

Hit y [m]

Event 18 , Ntracks = 1

0.004 |-

0.003

0.002

0.001

-0.001

-0.002 |-

-0.003

0.004

0.002

-0.002

-0.004

— -— = - -
: = m——— %
L | .y
0 0.2 0.4 0.6 0.8
Plane z [m]

Real track

- | —— Reconstr track
| x2= 0.8/ NDF =6
- | ﬁ-----------n-----:‘ -------- =
— | | . . . | . . . | . . . |
0 0.2 0.4 0.6 0.8

Plane z [m]

511
510
509
508
507
506
505
504
503
502
501
500
499
498
497
496
495
494
493
492

=491

30000

25000

20000

15000

10000

5000

25000

20000

15000

10000

5000



Hit x [m]
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Hit X [m]

Hit y [m]
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Hit x [m]
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Hit x [m]

Hit y [m]
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Hit X [m]

Hity [m]

Event 23 , Ntracks = 1

0.005

0.004 |

0.003

0.002 -

0.001

-0.001

-0.002 |-

0.004

0.002

-0.002

-0.004

-0.006

------------------------------------------- r— s
0 0.2 04 06 0.8
Plane z [m]

----- Real track
| —— Reconstr track
u x2= 8.5/NDF = 7
= J_-J —— ——
| | | . . . | |
0 0.2 0.4 0.6 0.8

Plane z [m]

514
513
512
511
510
509
508
507
506
505
504
503
502
501
500
499
498
497
496
495

£494

20000
18000
16000
14000
12000
10000
8000
6000
4000
2000

22000
20000
18000
16000
14000
12000
10000
8000
6000
4000
2000



Hit x [m]

Hit y [m]
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Hit X [m]

Hit y [m]
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Hit X [m]
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Hit x [m]
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Hit X [m]
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Hit X [m]
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Hit x [m]

Hit y [m]
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Hit x [m]
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Hity [m]

Event 39 , Ntracks = 1

-0.001

-0.002

-0.003

-0.004

-0.005

-0.006 |-

-0.007

0.004

0.002

-0.002

-0.004

-0.006

: e —— e -
o 02 0.4 " 06 0.8
Plane z [m]

----- Real track
| | —— Reconstr track
| X2= 0.5/NDF =8
= —
B | . | | . | |
0 0.2 0.4 06 08

Plane z [m]

501
500
499
498
497
496
495
494
493
492
491
490
489
488
487
486
485
484
483
482

=481

30000

25000

20000

15000

10000

5000

30000

25000

20000

15000

10000

5000



Hit x [m]
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Hit x [m]
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Hit X [m]
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Hit X [m]
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Hit X [m]

Hit y [m]
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Hit X [m]
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Hit X [m]
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Hit X [m]
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Hit X [m]
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Hit X [m]
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Hit x [m]
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Hit x [m]

Hit y [m]
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Hit x [m]
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Hit X [m]
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Hit X [m]
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Hit x [m]

Hit y [m]
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Hit x [m]
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Hit X [m]

Hit y [m]
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Hit X [m]
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Hit X [m]

Hit y [m]
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Hit X [m]

Hit y [m]
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Hit x [m]
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Hit x [m]
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Hit X [m]

Hity [m]
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Hit x [m]
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Hit X [m]
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Hit X [m]
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Hit X [m]

Hit y [m]
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Hit X [m]

Hit y [m]
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Hit x [m]
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Hit x [m]

Hity [m]
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